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;7 Grey line: exponential fit Peak flux: 2.011+/- 0.848 c/s/cm’ 7;
E Black Iing: power law + gauss fit Fluence : 15.88+/- 6.59 c/cm? E
C Dashed line: power law i ]
- Duration: 24.83+/- 1252 s —
— Best fit model: 1. —]
- Best fluence model: 1. E
- Best dyration model: 1. E
= | H } | ” ” i W HJ | \} i \JHHH Al M } il } MH } I M ILE
- w H “Hﬂ M{ “IM “ il WHH“ [HHWHM ”} \\ HWH HMW H‘ WHHHW !HW ” ! Hw
; Exponential fit é
= Expon.time: 9.05+/- 3.96 s (chi*-red= 0.92) J
S b it b b i it b i L
= ‘MWW TﬂuHTHHWWHMWWW ﬁwwﬁ*++*ﬁw@w **+ﬁTHﬂ+**ﬁ+ﬁﬂﬁmﬁWHWWHﬁﬂmH%*SﬂH**+Mﬂﬁ++H+Hw*+wﬁ%Hﬂﬁ%ﬁﬂﬁWW ﬁﬁﬂw W@
; Power law fit é
E Power law index: -1.531+/- 0.622 (chi*-red= 0.93) =
- | b b + b e
= #Hﬂﬂﬂwﬂﬁﬂg Tﬂﬂ Hiﬂﬂ{ mﬁmﬂmﬁﬁﬂﬁﬁwwWﬂwﬁﬂw *+**ﬁwm%wm+**+*%+*++**+H++*n**+**++*++++*Hi*Hﬁ+*+*%+*+%*ﬂ+ﬁwﬁwﬂw +mHﬂﬁWHM*Wﬁﬂ*ﬁﬁﬁWWWW *ﬂ%@
i I T T T T T T T T T I T T T T T T T T T I T i
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